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1 SFI24EEE9 H RKEAEDRE A K Ok H DRI

(DA ‘ (B TH %)
23k K 4y LT R M IE P HE A THEBUA EREE % VN -¥ | HATER % [SFoTHEIH | HEEER %
(A) B)] (A)+®B)=(C) (OE(D) D) D)= | KFE%EE (EB)|OC==E-1
— W = it 5,608,000 1,275,710 6,883,710 58.8 3,747,220 54.4 5,747,930 19.8
= s YREDRER
1“(’%mg{§;’f€§ﬁ 4,619 77 4,696 0.0 120 2.6 4,633 1.4
%“ )DJ[J I~ ﬁ+
15 T 0T [H R At B
- 1,136,837 16,702 1,153,539 9.9 444,648 38.5 1,201,460 A 4.0
R B % Bl & Ft
15 I W 1% 8 & hn
I 128,005 1,179 129,184 1.1 38,885 30.1 113,055 14.3
= R Fr Bl & Etf
13 12 0T I 3 4% IR
’ z 913,562 49,414 962,976 8.2 420,331 43.6 921,447 4.5
O F N & B
& & W7 /K JE[W2EM 200,959 82 201,041 1.7 90,523 45.0 199,096 1.0
=<4 2 Elakm 6,083 842 6,925 0.1 2,776 40.1 6,657 4.0
{2 & BT F /K JE[m2Em 538,993 3,861 542,854 4.6 660,938 121.8 - -
=<4 2 FHlaAm 329,159 886 330,045 2.8 0 0.0 — —
f& 1 W S )R Be[iasm 1,459,749 A 5,370 1,454,379 12.4 660,938 45.4 1,454,774 A 0.0
= ¥ £ FHlaiwm 36,283 4,170 40,453 0.3 0 0.0 101,235 A 60.0
& &t 10,362,249 1,347,553 (F) 11,709,802 100.0 6,066,379 51.8 9,750,287 20.1




(2) & (A7 TH %)
2030 K 4y YT EEE e YHEEE THEBEE REREE % HATHA HATHR % [DFITEEIH | HEEHE %
=] . . Voxid .
A) B)] A+B=C) | (O)+[F) D) (D)=(C) | KF¥E% (B) | (O)=E)-1
— & = it 5,608,000 1,275,710 6,883,710 57.7 2,984,523 43.4 5,747,930 19.8
1E VR ET M2 AT
z 4,619 77 4,696 0.0 51 1.1 4,633 1.4
¥ Bl & &t
15 12 0T [E R At Bl
> 1,136,837 16,702 1,153,539 9.7 433,038 37.5 1,201,460 A 4.0
I
15 W] 1% i 2
- 128,005 1,179 129,184 1.1 52,027 40.3 113,055 14.3
= B RE B & B
ER- 1 Ry
’ = 913,562 49,414 962,976 8.1 376,148 39.1 921,447 4.5
N NIEI
12 12 BT /K JE|IGsm 184,767 4,667 189,434 1.6 41,208 21.8 186,471 1.6
=5 2 EhlmAkmy 145,495 843 146,338 1.2 52,396 35.8 122,065 19.9
12 & BT F /& JE|igEs 555,974 7,881 563,855 4.7 547,717 97.1 - -
=% £ FHlgaswm o 329,712 1,045 330,757 2.8 26,193 7.9 - -
12 12 BT 3T 9K Belsuasm 1,502,507 A 1,630 1,500,877 12.6 547,717 36.5 1,525,768 A 1.6
= ¥ 2 Zlaxm 60,060 4,539 64,599 0.5 26,193 40.5 141,401 A 54.3
s Z 10,569,538 1,360,427 () 11,929,965 100.0 5,087,211 42.6 9,964,230 19.7
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(D) A (ER1IA M 7=0 R Fi %8 135,158 ) (AL TH %)
= oA A B VTR | MHIETRAE TRBER | FBERE% | IWABEE | $UTEY %%nﬁfr@ﬂ HETRCER %
’ (A) B)] _(A+B)=(C) | (CO)=([F) D) D)=(C) | RTHEEE) |[(CO)+(E)-1
1 HT Bi 1,094,236 0 1,094,236 15.9 716,035 65.4 1,095,072 A 0.1
WY 5§ Bi 352,731 0 352,731 5.1 205,858 58.4 351,580 0.3
M OE & PE B 652,400 0 652,400 9.5 452,388 69.3 654,674 A 0.3
=) E-i Bi 35,276 0 35,276 0.5 35,994 102.0 33,976 3.8
oW A 2 X 2B 36,806 0 36,806 0.5 20,022 54.4 37,518 A 1.9
A 5 Bi 17,023 0 17,023 0.2 1,773 10.4 17,324 A 1.7
2 M 5 E 5 B 77,704 0 77,704 1.1 23,788 30.6 71,700 8.4
3 H A R & 640 0 640 0.0 235 36.7 870 A 26.4
4 Fd Y OE R & 2,300 0 2,300 0.0 846 36.8 2,900 A 20.7
b BRI TR A A 1,800 0 1,800 0.0 0 0.0 3,000 A 40.0
6 EANF XL & 100 0 100 0.0 2,296 2,296.0 159,000
(SRR & TR 193,900 0 193,900 2.8 107,623 55.5 10,000 1,839.0
8 )V 7 F] B A A 4 8,500 0 8,500 0.1 2,152 25.3 8,000 6.3
9 B W M mE H 7,500 0 7,500 0.1 1,415 18.9 2,952
10 # 5 ¥ Bl &2 £+ & 3,387 2,834 6,221 0.1 6,221 100.0 14,574 A 57.3
1 5 =& & B 2,680,000 184,728 2,864,728 41.6 1,707,695 59.6 2,458,890 16.5
12 ZSWZe R SRR 4 634 0 634 0.0 411 64.8 701 A 9.6
13 0 & & NE#H & 34,552 41 34,593 0.5 5,059 14.6 47,841 A 27.7
14 £ OB & O F Bk 106,776 A 6,088 100,688 1.5 49,840 49.5 107,110 A 6.0
15 | S s v B 231,856 1,200,594 1,432,450 20.8 987,271 68.9 278,839 413.7
16 IR X H 4 291,480 28,479 319,959 4.6 45,618 14.3 331,949 A 3.6
17 PE I A 33,256 4,534 37,790 0.5 15,159 40.1 44,709 A 15.5
18 % F 4 8,953 0 8,953 0.1 4,328 48.3 14,720 A 39.2
19 At A 4 168,342 A\ 154,000 14,342 0.2 0 0.0 410,521 A 96.5
20 fgk ik 4 40,000 15,579 55,579 0.8 55,580 100.0 70,016 A 20.6
21 & I A 101,684 A 6,591 95,093 1.4 15,648 16.5 127,866 A 25.6
22 Wy 15 520,400 5,600 526,000 7.6 0 0.0 486,700 8.1
B AN A& 5,608,000 1,275,710 (F) 6,883,710 100.0 3,747,220 54.4 5,747,930 19.8
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VHITREA | MIETRA | PRI | MER% | BT B | BUTER% | SROCFEEOR | HEEER %

s BB () B W B=C) | =@ D) D)=©) | ®FEEE 0= E)-1

1 2 # 76,523 A 53 76,470 1.1 39,243 51.3 76,169 0.4
2 % 2 731,629 25,696 757,325 11.0 242,016 32.0 758,799 A 0.2
3 B £ 2 1,175,168 895,527 2,070,695 30.1 1,218,471 58.8 1,214,168 70.5
4 fi £ % 694,997 20,012 715,009 10.4 305,944 42.8 752,728 A 5.0
5 & MK K JE ¥ B 349,225 14,930 364,155 5.3 125,045 34.3 570,956 A 36.2
6 4 T iy 205,650 195,091 400,741 5.8 113,120 28.2 179,189 123.6
7 + A i 944,544 25,360 969,904 14.1 339,201 35.0 831,987 16.6
8 M %3] 2 258,425 4,733 263,158 3.8 115,674 44.0 268,601 A 2.0
9 g 2 583,319 91,338 674,657 9.8 208,050 30.8 538,378 25.3
105 & 1 H % 787 8,269 9,056 0.1 0 0.0 1,852 389.0
11 A & 2 572,733 0 572,733 8.3 277,759 48.5 545,287 5.0
12 § X H & 0 0 0.0 0 0.0 0.0
13 ¥ i 2 15,000 A 5,193 9,807 0.1 0 0.0 9,816 A 0.1
7 A s = 1§ 5,608,000 1,275,710 (F) 6,883,710 100.0 2,984,523 43.4 5,747,930 19.8
3 DRI H RKBUED = FHEE I 2 (AL TH-%)
T VTR | MHIETRAE THEBUEE *%EE}:E% %%n;ﬁkﬁfﬁ% ke 5 t%?{a‘z%%

~ (A) B)] _(AW+B)=(C) | (CO)=(F) KT HED) (C)-(D)=(E) [(C)+=(D)-1

1 A 4 2 1,142,631 A 2,011 1,140,620 16.6 998,438 142,182 14.2
2 W 7 2 817,874 108,349 926,223 13.5 1,025,132 A 98,909 A 9.6
3 HME R oM B & 323,597 5,126 328,723 4.8 376,015 A 47,292 A 12.6
4 B i 372,672 1,130 373,802 5.4 363,258 10,544 2.9
5 fii Bl i i 1,099,393 1,128,321 2,227,714 32.4 1,170,717 1,056,997 90.3
6 & B ES 482,267 97,161 579,428 8.4 417,797 161,631 38.7
TR = HH FOE 787 7,462 8,249 0.1 1,712 6,537 381.8
8 A & 2 572,733 0 572,733 8.3 545,287 27,446 5.0
9 & ST 4 19,005 39,500 58,505 0.8 75,019 A 16,514 A 22.0
10 % & &k NH & & 37,146 327,467 364,613 5.3 60,415 304,198 503.5
11 = 1 4 0 0 0 0.0 0 0 0.0
12 8 H & 724,895 A 436,056 288,839 4.2 698,617 /A 409,778 A 58.7
13 oM (¥ W &) 15,000 A 739 14,261 0.2 15,523 A 1,262 A 8.1
= g 5,608,000 1,275,710|(F) 6,883,710 100.0 5,747,930 1,135,780 19.8
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(1) MPEIZBI 325~
7N A WO (BT 2 of) A GE R (Ff7: )
% N + 1 <3 ) X 5y = [ 4 4 il
IARBUER| A & | FEAE |[9AKBIES - = ik Jik % it 34
AT & 8,288 79 4,153 4,232 T E B R F — 410
ﬁ E2RGS 45,628 111 10,370 10,481
T ﬁﬁ NEFEE 6,868 1,141 1,758 2,899
B | /N 24,090 X HEIZIDHER) (BN TH)
W | pg |zomom| 234,259 5,586| 28,727 34,313 X g & (5
PE [ g2 () ik 1,149 0 765 765 E % B EF B K iFE W = 1,370
F D Al 680,973 167 180 347 E W R B EXEGEHE & H & 2,980
it 1,001,255 7,084] 45,953 53,037 & o o s HH & 1,430
e EH-EY) 95,072 2,548 12,382 14,930 f& B W + H B3 ¥ AN %t 5,000
[ | 2,527,566 () B & R K ¥ & v % — 200
Ml = o i 1,263,072 66 6,792 6,858 N E OB R W OB W = 355
P it 3,885,710 2,614 19,174 21,788 KN E OB OB O o XK & 650
= it | 4,886,965 9,698| 65,127 74,825 N O B O¥ W FH M A 5
() 5 T R L i A A I T VAL R K 500
& 2y JA Ik i o 25,120
A s (BT :m?) W S 5 & L & BNt 11,000
T HDHEFI X 5y [if] i SERDOHEE SRR () EHEKREI YL EZ NS 50
A H 2,527,566 10,069 b N .S w4 @b B A 1,200
g I 96,499 L S D #k 8 (5 35,000
= 7t 2,624,065 10,069 (—f) 1F B b B B R(HES) 2,000
(—#h) 77 —2 2T A LD (HE &) 50
A ) FE RS 2fE 7 KRENEDIFFEDZ IS HE 7L
= P 1 # kM 4,815.45 m
4 MER U PE ME PR ME 4
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(BANT7: 1)

X 97 gt F 3 H K Bl &E . L T 2 % 9 A K #Hl

22 B il ' H & 696,000,000 696,000,000
Dk = F & 378,000,000 378,000,000
N L o s %O K & 507,000,000 507,000,000
S b v o Ik om ok K & 200,000,000 200,000,000
=R R BN f BRSO R SR 4 41,370,000 41,370,000
B - S S T 1,000,000 1,000,000
HE IR & & — it 5% % R g K & 17,840,000 17,840,000
bk = 9 0 TR A i R B i L 4 600,000,000 600,000,000
556 & fF RS B K & 8,949,000 8,949,000
A - 10,000,000 10,000,000
FOK OB om B OB K & 4,243,000 4,243,000
+ Hh B 7 H ey 101,200,000 101,200,000
" o o' & g O K & 28,000,000 28,000,000
K opr & & & g F & & 1,000,000 1,000,000
E W RN AGE®EKEBR L& 200,000 200,000
B FE PR RS A YE R X & 99,500,000 99,500,000
g GE R R O K & 121,500,000 121,500,000
ok B BB OB v & 20,142,934 20,142,934
oK E &8 &k B M V& 157,361,336 157,361,336
it 2,993,306,270 2,993,306,270
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5 FITH IR

(DA 2D
Sk = P N Y = N RE E\
23K 4 + B OB A W A A4 R | Gk | B
HERL D g
— & = 5,550,047,000 5,636,862,319 5,535,566,235 31,430,852 69,865,232 A 14,480,765
= yHl ~‘/“§/7\
SRR SR 4,610,000 4,610,812 4,610,812 0 0 812
l%“ /DJ[J = 5
5T E R
- 1,182,799,000 1,209,609,240 1,183,530,477 5,702,235 20,376,528 731,477
el s
R 1% B S
Rl 113,827,000 115,191,170 114,076,140 921,500 193,530 249,140
=R BT R R
& oo o 2 895,973,000 910,521,184 905,728,223 71,250 4,721,711 9,755,223
f& B B F /K&
& o & 3 357,886,000 348,824,059 338,712,809 0 10,111,250 A 19,173,191
15 /R HT 2 3%
HE K 5 3 4 ] 2 2 221,042,000 218,034,531 216,583,851 0 1,450,680 A 4,458,149
2 1 BT 7 B B AR A A
S g 2 13,904,000 15,539,283 14,637,973 0 901,310 733,973
12 ¥ 0T (& B PE 7K AL B
o o 2 1] 9,747,000 9,617,087 9,560,977 0 56,110 A 186,023
f& B W7 K B|msm 199,126,000 — 197,259,568 — — A 1,866,432
X = ilaxw 8,112,000 — 10,284,320 — — 2,172,320
{5 W WT 57 Brjwgss  1,368,170,000 — 1,383,595,801 — - 15,425,801
X = ilaxw 85,486,000 — 85,486,000 — — 0
= &t 10,010,729,000 8,468,809,685 9,999,633,186 38,125,837 107,676,351] A 11,095,814




(2)%35[‘; (BT H)
~ o . . FTHERBKHE T H
/ ¥ H y E] HH ~ ] s o
=R X 5 T B Bl % X O W% FE P e KR ~ H # FEARL D L
— & & 3 5,550,047,000 5,419,628,618 56,921,000 73,497,382 130,418,382
= yHl ~‘/“§/9\ Al
SRR SR 4,610,000 4,504,775 0 105,225 105,225
l%“ /DJ[J I~ 5
RN [E R fE R
- 1,182,799,000 1,177,828,349 0 4,970,651 4,970,651
% R A B & B
= T T 591 i
R R 2 =t 113,827,000 112,596,485 0 1,230,515 1,230,515
B R AT LR R
g B R 2 = 895,973,000 852,338,202 0 43,634,798 43,634,798
R AT K E
= q:if w2 =f 357,886,000 321,670,753 18,900,000 17,315,247 36,215,247
ER-AIN-F 3§
HEAK 5 S 1 2 3 221,042,000 211,409,748 0 9,632,252 9,632,252
2 1 BT 7 B B AR A A
S oS A & B 13,904,000 11,842,461 0 2,061,539 2,061,539
{2 9 0T {8 B Bk Ak 0 B
o g ) 9,747,000 8,488,473 0 1,258,527 1,258,527
15 1B B K 3B 192,343,000 184,657,198 1,014,200 6,671,602 7,685,802
=¥ & Hlasm 94,726,400 92,213,245 1,210,000 1,303,155 2,513,155
& W BTS2 9% Belwassy  1,477,416,000 1,431,530,808 0 45,885,192 45,885,192
¥ & Flaam 123,660,000 121,986,221 0 1,673,779 1,673,779
=) &t 10,237,980,400 9,950,695,336 78,045,200 209,239,864 287,285,064




6 —ARESFHRFEIL S ORI
(HAZ: T %)
ES 5 . 30 H R
A L% A N 45 5,535,566 5,844,015 A 5.3
B . % H N %A 5,419,629 5,685,993 A 4.7
C . AmHZESI%(A—B) 115,937 158,022 A 26.6
D . AR~ MR 4,358 16,006 A 72.8
E.Z#HIX X (C — D) 111,579 142,016 A 21.4
oL P s 56,000 72,000 A 222
G .¥ H E B B % 55,579 70,016 A 20.6
H.H F oI X A 30,437 30,657
I VA & 5,000 4,000 25.0
J .o/ E B & 0 0 0.0
K. v & B B L # 200,000 252,000 A 20.6
L . EEBEFEENH+I+]—K) A 225,437 A 217,343 3.7
E OB Ix X Kk E 3.1 3.9 A 0.9
HE v o4& BOE & 2,594,802 2,771,176 A 6.4
#wooFOE OB O m 4,939,243 5,057,483 A 2.3
it A O = AR < 96.6 94.4 2.3
— M W R o Ok b 78.6 76.4 2.2
| BOE AR B O M O 69.9 67.3 2.5
7 N - O - S A 4.0 3.7 0.3
A A N - B 0.350 0.337 0.013
ANA— NS00 NF#HE 117,974 14 114,710 M 2.8
Bl m - A4 o Bi 136,889 M 133,879 1 2.2
(%)

HER = (AR E 304EE — 1) X 100

HERER = LR R B D LRI do > T oA — 304

e S R OB, BRI BOd SR 2 A TRHL T,

FEI I R=(E

SIS ERF B X 100




2

At R OHOBHE

O H B (R A)

O LB FHR264FFE & R LT B T D, (26 IR D720 b OISV T, TR AR IR AL CU5, )
(B2 % TM)

R % ARk E Gl

FH 26 27 28 29 30 It
iy B A 5.2 A 6.7 A 6.4 A 7.1 A 7.6
1,202,190 1,140,033] 1,121,462| 1,125,810] 1,116,417 1,110,855
. . 4.4 3.5 3.0 2.2 7.6
el 67,923 70,941 70,284 69,971 69,426 73,106
. A 18.8 A 48.9 A 15.0 A 4.0 A 56.4
Fl R 4 1,629 1,322 833 1,384 1,564 711
Ny A 20.5 A 44.6 A 28.7 A 42.8 A 32.3
Fie S R 2 4 4,623 3,676 2,562 3,297 2,646 3,130
RIS R E 7.2 A 57.9 1.2 A 37.2 A 48.7
FT 13 E 22+ 4 3,509 3,761 1,476 3,552 2,202 1,800
7 iE B R 64.6 43.5 45.0 51.3 43.3
I > 108,261 178,173 155,314 156,977 163,752 155,114
N7 G H R 4.3 4.7 A 3.9 A 9.3 A 21.8
I > 11,503 11,995 12,049 11,056 10,438 8,991
EEUEN: gy i) 83.0 74.0 148.1 127.4 34.4
2 & 7,266 13,294 12,645 18,029 16,522 9,762
Be 55 Mk AE E 100.0
2 & 2,368
12 (S ]| 4.3 10.1 10.5 26.1 853.9
2 & 2,089 2,179 2,300 2,309 2,635 19,927
. 2.0 3.8 2.5 0.7 A 3.7
07 22 R 2,509,271|  2,559,131| 2,604,183 2,571,212 2,527,215| 2,416,496
A28 7 AR R A 3.4 A 1.9 A 16.0 A 24.1 A 19.2
K Bl A2 A & 835 807 819 701 634 675
gy & A 4.9 5.7 A 29.8 A 28.6 A 23.3
2 #H 4 57,207 54,411 60,441 40,169 40,858 43,881
i H B A 4.6 A 10.4 A 24.6 A 22.7 A 24.3
F & B 132,014 125,889 118,310 99,590 101,991 99,880
12.9 14.1 3.9 A 17.6 A 17.5
B3 4 329,665 372,245 376,101 342,529 271,803 272,016
11.8 28.6 16.9 85.8 30.2
bvo 3 & 234,064 261,673 301,051 273,662 434,855 304,846
: A 3.2 108.2 47.3 48.3 52.8
Mo e A 21,557 20,877 44,886 31,754 31,967 32,947
= 4 A 26.5 44.1 182.2 285.3 610.7
3 . 4,605 3,384 6,634 12,996 17,745 32,730
W A 4 A 23.2 42.7 66.4 113.2 127.9
146,335 112,410 208,765 243,465 311,941 333,521
T SN 23.3 15.1 A 38.7 A 29.4 A 1.5
87,300 107,620 100,485 53,527 61,598 86,023
5 A 9.1 A 9.6 A 0.2 5.4 30.6
95,640 104,315 86,491 95,449 100,806 124,887
iy # 31.8 52.7 24.4 9.5 A 21.0
5 508,800 670,800 777,000 632,800 557,000 401,900
s A 3 5.1 9.5 4.6 5.6 A 0.0
& oo 5,536,286] 5,818,936] 6,064,091| 5,790,239|  5,844,015] 5,535,566
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At R OHOBHE

O FBOELAE L, Pk 264 B LHER U= 38R T D, CEE264EFEICHUE D2 E DT DWW T, SR EREZ AL L T 5, )

O B (s M)

(B2 % TH)

R 57 H R B %8
A 26 27 28 29 30 In

= o om 5.2 A 2.6 A 12.4 A 13.9 A 13.8
- 87,199 91,720 84,946 76,422 75,092 75,137
“ o 21.6 15.0 A 3.4 A 1.0 A 6.8
" 7= 765,076 930,435 879,971 738,777 757,635 713,057
B4 0.4 A 1.8 A 4.0 A 2.1 A 3.0
- 1,179,966 1,185,261 1,159,063 1,132,328 1,155,363 1,144,006
T 9.0 9.4 10.1 15.4 14.1
- 622,142 677,928 680,841 684,782 717,857 710,140
. 9.1 19.6 24.9 38.1 27.5

= VN
M ACPE RS 428,832 468,014 513,040 535,579 592,085 546,746
T A 4.9 34.1 18.6 A 1.7 A 6.7
) - 173,910 165,427 233,135 206,309 170,992 162,197
ok A 11.4 3.6 A 6.0 A 3.0 A 6.0
- 783,055 694,105 811,482 735,953 759,281 735,734
W 11.7 136.3 6.7 A 9.5 A 3.5
- 277,154 309,582 654,893 295,596 250,829 267,345
P 3.1 A 7.3 36.1 18.1 A 12.5
HH 568,909 586,794 527,305 774,223 671,632 497,979
g = 1 |8 221.6] A 100.0 A 34.3 94.5 98.2
- - 14,559 46,822 0 9,568 28,319 28,863
s 5.6 A 4.3 9.8 15.2 22.4
g - 439,864 464,363 420,888 483,104 506,908 538,425

E AN
o W 0 0 0 0 0 0
seowoa 3t 5.2 11.7 6.2 6.5 1.5
’ 0o 5,340,666 5,620,451 5,965,564| 5.,672.641] 5,685,993| 5,419,629




ﬂXz: an‘/j% @%/R

O AR (H

- N TR 30 A
TREAE | BERER | WERRLL | TRGEEE | BEURCE | SR
Wy Bl 1,110,855 A 0.5 20.1| 1,116,417 A 0.8 19.1
H| |77 # & & # & 43,881 7.4 0.8 40,858 1.7 0.7
6 AR T % BH 99,880 A 2.1 1.8 101,991 2.4 1.7
F (M E I A 32,947 3.1 0.6] 31,967 0.7 0.5
DI i 4| 32,730 84.4 0.6 17,745  36.5 0.3
W | A 4| 333,521 6.9 6.0 311,941 28.1 5.3
| it (£} 4| 86,023  39.7 1.6 61,598  15.1 1.1
A I Al 124,887  23.9 2.3 100,806 5.6 1.7
71N 7 753,869  13.0| 13.6| 666,906| 15.6] 11.4
7 1,864,724 4.6 33.7| 1,783,323 4.7 30.5
o U5 A& FF Bi| 2,416,496] A 4.4 43.7| 2,527,215 A 1.7|  43.2
b % @ A2 AT B 2,002,890 A 3.6|  36.2| 2,078,591 A 0.3] 35.6
5B Ry Bl A2 £ BL| 413,606 A 7.8 7.5 448,624 A 7.7 7.7
(/s BE I S I B 19,927 656.2 0.4 2,635  14.1 0.0
JE 3 4| 272,016 0.1 4.9 271,803 A 20.6 4.7
B X W 4| 304,846 A 29.9 5.5\ 434,855 58.9 7.4
17 | Hh 7 f&| 401,900 A 27.8 7.3] 557,000 A 12.0 9.5
5 oE 5 B 73,106 5.3 1.3 69,426| A\ 0.8 1.2
= Ml B &2 AT & 711| A 54.5 0.0 1,564  13.0 0.0
O T O R s 3,130 18.3 0.1 2,646| A 19.7 0.0
PR IR 4 1,800| A 18.3 0.0 2,202| A\ 38.0 0.0
D\H T HE BT 4| 165,114 A 5.3 2.8] 163,752 4.3 2.8
PR (27 SR AR A 4 8,991| A 13.9 0.2| 10,438 A 5.6 0.2
[ B o RSB AL 4 9,762 A 40.9 0.2| 16,522 A 8.4 0.3

e B B 1 BE A2 AT 4 2,368| g 0.0

3 22 AR R 5 A 4 675 6.5 0.0 634| A 9.6 0.0
71N 7t 255,657 A 4.3 4.6| 267,184 0.8 4.6
at 3,670,842 A 9.6 66.3| 4,060,692| A 0.7| 69.5
W AN & #F | 5,535,566 A 5.3] 100.0| 5,844,015 0.9/ 100.0




O R (HEERI)

(BAZ: T-H - %)

T 30 4
X 53 Y PRk AR
DRBEARE | MR | ARk | TREAE | BEIRER (MR

A (G #| 957,363 0.1| 17.7] 956,568 0.1] 16.8 795
#Zl |D b B B | 590,192] A 0.1] 10.9] 591,058 0.4 10.4 A\ 866
ZAE7S i) | 396,287 A 1.6 7.3 402,546| A 2.9 7.1 A 6,259
O]/ & #| 538,425 6.2 9.9 506,907 4.9 8.9 31,518
| |9 B oo Fl & 3= 4| 538,425 6.2 9.9 506,907 4.9 8.9 31,518
| Db AR T 0 0.0 0.0 0 0.0 0.0 0
7 £ 1,892,075 1.4 34.9| 1,866,021 0.7 32.8 26,054
Wom g R F | 432,246 A 22.0 8.0 554,055 A 18.7 9.7 A 121,809
95 M B #F ¥ | 180,289 A 0.3 3.3 180,842| A 15.1 3.2 A 553
El Db Bk E ¥ FH| 251,957| A 32.5 4.6 373,213 A 20.3 6.6] A 121,256
s F 8 H | 28,863 1.9 0.5/ 28,318 196.0 0.5 545
Bl |D b M By =¥ | 12,505 148.8 0.2 5,027 27.2 0.1 7,478
Db BN FEE R 16,358| A 29.8 0.3  23,291| 314.8 0.4 A 6,933
7N 7t 461,109 A 20.8 8.5| 582,373| A 15.7| 10.2| A 121,264
) (G #| 887,637 2.0 16.4| 870,593 A 1.8 15.3 17,044
z HE BF oM & | 228,011 A 16.4 4.2 272,664 A 1.8 4.8 A 44,653
w8 & S| 984,624 A 9.8 18.2| 1,091,226 16.9] 19.2] A 106,602
i ST 4| 84,947 A 22.0 1.6| 108,905| A 25.3 1.9 A 23,958
” B & & 4| 56,016] 29.4 1.0 43,276 0.3 0.8 12,740
= it & 0 0.0 0.0 0 0.0 0.0 0
i i iy 4| 825,210 A 3.0 15.2| 850,935 1.0| 15.0 A 25,725
7N 7t 3,066,445 A 5.3| 56.6| 3,237,599 3.5  56.9] A 171,154
o A FF | 5,419,629 A 4.7| 100.0| 5,685,993 0.2| 100.0| A 266,364




O gt (H A1) (HAAL: TH - %)

T JE 30 »
F H — — : — — — B
WORAE | B [MERREL| derdE | meieR MRk
=3 2 2 75,137 0.1 1.4 75,092 AN 1.7 1.3 45
B % 2 713,057 A 5.9 13.2 757,635 2.6 13.3] A\ 44,578
K A 2 1,144,006 A 1.0 21.1] 1,155,363 2.0 20.3| A 11,357
o A= e 710,140 A 1.1 13.1 717,857 4.8 12.6 N\ 7,717

Bk ok E ¥ B 546,746 A 7.7 10.1| 592,085 10.6 10.4| A 45,339

ML B Ot & 162,197 A 5.1 3.0 170,992| A 17.1 3.0l A 8,795
+ PN # 735,734| A 3.1| 13.6| 759,281 3.2 13.4] A 23,547
{H %3} # 267,345 6.6 4.9] 250,829 A 15.1 4.4 16,516
# H # 497,979| A 25.9 9.2| 671,632 A 13.3] 11.8|/ A 173,653
K% F 1@ B O# 28,863 1.9 0.5 28,319 196.0 0.5 544
7N f& # 538,425 6.2 9.9 506,908 4.9 8.9 31,517
E X W & 0 0.0 0.0 0 0.0 0.0 0
AlAFE B R &

53 i = i 5,419,629 A 4.7 100.0{ 5,685,993 0.2] 100.0] A 266,364




